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110 "% -
120 W LAPLACAA: NUMERICAL SOLUTION OF LAPLACE’S EQUATION IN 2D RECTANGLE -
140 = W s e auutws .

-
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150 "The rectangle is Tx12 including the boundaries. The mesh is 1x1 squares.
170 DIM V{10, =20) '
CLS : SCREEN O

R
f s DM.™: INPUT “DM = ™=, DM
250 PRINT "Enter the wvalue of the re tion parameter, wW.": INPUT "w = =, 6 W

270 LOCATE 23, 1: PRINT "Press any key continue
nocﬁ-mﬁit;}:m:n-n S g

Enter starting values for the al at the grid poi e
310 FOR J = 2 TO 11 potantl grid points and the bdy.

wa)

220 -G % J — &6

330 v{i, J) = VI: LOCATE 1, JP: PRINT VT

340 V{7, J) = VB: LOCATE 19, JP: FPRINT VB

350 HNEXT J

360 FOR I = 2 TO &

370 VX, 1;_ VL: V(I, 12) = VR: IP = 3 @& T = 3
380

1r PRINT V(I, 1)

2 TO 11: V(I, J) = O: NEXT
2
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